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IDER3: Summarize the features of New Economic Geography and New Trade Theory.
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i E-1 Explain the following terms: (1) perfect competition and monopolistic competi-
tion; (2) general equilibrium and partial equilibrium; (3) income elasticity and price elasticity

of demand.
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[ E-—2 Let the price of a manufacturing good be p and the price of an agricultural good
be 1. The consumptions of two goods are & and A, respectively. Assume a utility function
of U(z, A) = logz + A.

(1) For an income I (> 1), solve the Marshallian demands for both the manufacturing and
the agricultural goods, and then calculate the indirect utility function. (2) Solve the Hicksian

demands to attain a utility level u and then calculate the expenditure function.
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= E-8 (1) Calculate the area of ellipse -z—f + %—2- =1,(a>0,b>0).

(2) What is the rank of the following matrix?

( ai ( albl albg alb-,,, \
(br by - b} = az_ ' a2_ ’ . 0.2. ",
\ am \ @mb1 ambz -+ ambn /

where there are some ¢ and j such that o; # 0, b; # 0.
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Problem E—4 Usin;g the Japanese annual data over the 30 year period between 1980 and
2009, the private consumption (Cy) is regressed on the GDP (¥:) to obtain the following

result. Note that the data are in billion yen, and evaluated at the prices in year 2000.

~

C,= -2501.0 + 0.5700 Y;, R?=0.9886, DW = 0.8864, (a)
(-0.463)  (49.25)

where the t-values are shown in parentheses, and DW indicates the Durbin-Watson ratio.
Moreover, the dynamic model with the lagged dependent variable is also estimated using

the same data set as follows:

C; = 5095.4 + 0.6787 Cpy + 0.1780Y;, RZ%=0.9972, DW =1.346 (b)
(175} (9.79) (4.38)

(1) Specify the degrees of freedom and calculate the edjusted R-squares for respective regres-

sions to consider if (b} is an improvement over (a).

(2) Discuss what can be concluded from DW in (a) regarding the disturbance term u; asso-

ciated with the original model. Suppose u; follows the following model:
U =puy+6&, €~N(002)

How to call this type of models? Then calculate the approximate value of p.

(3) It is not appropriate to use DW for the models like (b). Discuss why, and provide an

alternative statistic that can be used in such cases.



